
гокш1ш1,Акш1, оп'вктв[ (п'з. 1)

|а!а 0ершпег|! оЁше1: 23 |ш!]е 2020
Ргосе4цга 6е ас\т|т|т! | пг. : о с 11 в - 6 3 ш 4р 1 -Р1| - 1 5 9 4 2 1 1 7 0 9 9 9 1
Апшп1 6е ра(|с|раге пг. : 08.07.2020

€й.ге: Асвмт[А А$[с(/пАпв пвйцп$' $1 Аом1|м[8тпАпв
РАтп[р|ом| [| А м11\у! $ тв п(/|. (]! дрАп;{пту

|п1герг!п0егеа 0е 51а1 "к(]55сА', 6ес1агй сй:
а' Ац йв1 ехагп|па1е 9| пш ех|з1й тетету6т| |а|б 6е 6осшгпеп1е1е 4е а1г1Бш1ге,

1пс1шв|у гпо61йсаг|1е пг ' пц ац ауц[ !ос.
6' |п1герг1п0егеа 0е $1а1 *кш55сА" 

ве ап9а1еатб,зй ргев1е:е, ?п сопйттп|1а1е
сш 4осшгпеп1е1е 6е а[|6ц1ге 9| соп01!1|1е вт|рш1а1е ?п врес1{!са!111е Ё1тп1се 91 рге!,шггпё1оаге1е вегу|с||: $егу!с!! 0е сопЁес!!опаге а 1цп!с|! ;! рап1а!оп!!ог 0!п
{езй1шгй согпб!па1й сц 0евеп сатпц{1а10е 1!р &!р_51ор.

с' $шгпа !о!а\а а1 оЁпе1 йга ?!А сопз111ш|е:789000,00 1е1 (9ар1е зш1е ор2ес| ;|поцй гп1| 1е| 00 6ап1).

0' 5штпа 1о1а1а а1 оЁпе| сц [!А сопз1|1ц1е: 946800,00 !е! ( поша вш1е ра1гш:ес| ;1
чаве гп|| ор1 вш1е 1е| 00 6ап| ).

е' Ртетеп!а о|ег|й уа гйгп?пе уа1а6|1й реп1гш рег|оа0а 4е 1|гпр зрес|{!са1й ?пг}А3'8, ?псер?п4 сц 0а1а-11гп11й реп1гш 6ершпегеа о|ег[е1, ?п соп|оггп11а1е сцво^42, уа гйгп?пе о61|3а1ог1е 9| ма рш1еа {! ассер1а1й |п ог1се :тоттеп1 р?пй 1а
ехр1гагеа асев1е| рег|оа6е;

{' |п сапл1 ассер1йг|1 рге:еп1е1 оЁг[е, |п1герг1п0егеа 0е 51а1 -.кш$$сА,, 
5е

ал9а1еатб' вй о61|пй о 6агап{1е 6е Бцпй ехесш!1е ?п сопбггп|1а1е сц п'оАб,
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